
B.A. Part-II (Semester-IV) Examination

SANSKRIT LITERATURE

(Litcraturo of Classical Lrngurge)

Time : Three Hoursl

Note :-Answer the questions in the medium offered.

![*tr :-cnt t+ga qrarrq{ Frdr+d

(rm :-:'fr{ *5 mtar I Rfu< r

l. Translate any FM ofthe follo*ing:-
qr+dt+l +\qrqla crq rdrfiii l{rqi ( F( -
t{'{Rft{d I t m,6 q1= rffi 61 3r{4R d1}q :-
(l) qflrfurqiDcr!ft{ EFr Fnwirfffivrl

Aqffia. g n {e{r+fi ts(.cflsq c: r

uqfslws At< fujffi gqrfrqhffEr{i
ffi, Rrdd+ fa<ug E* riwAfdsrd{ r r

(2) er* vrrnq.{.frsf{frl:r{q{a

ToT.r* n?irrq eg(Fs R{ng"{M{rq I

slz..+[{r qi ag<rrlaadcla i t.fmr
qiaz;f,i iiFmmrgEh jffi{qrrqrsffi q tt

(3) r+dr +6H T€ rrffifr rf+m ffiq r+qt

TnrnRT1 c&: rg<n ys, {+qrqtrgffi: r

3rffu F6Eci qiilrg(d 6rfiqrC r6d

ffirasq{q,J gocR a'ri <itsa qdrmaq r r

(4) tr( +Tfu c ql{I r 6iR tii !-qdrdq rqr
n rri dr.{Fn ffi AftrqrE qffiq
{d {ri ftn"i liffi q< {nH ffiflr-
FIq: {rlFI eq Bogrnul}1 r Frd RF{d 4 | |

(5) qfur{4rq <r{ ltm5zE&dza ffi
{{ 6q6-+flTzi {dA } r

1 .l?tr{,I.qrE-ft;i Ffi:q.r
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(5) xr{ftrrr;a far+ ,'.*1qs +rd si-Frlr d.q'iF'

fld erqrft{ffir F rirq;rsq n qF:{r qqh I

;i glgqrrcri.ftrraqs rd<qrr,irqr EqoT

qrdlr3-eTrqrrsftqir1a1'r1\?sfrq,i qJ qq< r r

(7) ,,rRr 1]fr tmqqfi eqfi +'r-frE-cTdr: [Ti
rlr.fl€Y+{ftcrfiTeerlii 1r vRur-1 dr+ f+ r

l>|qirHmftIlrq ft-rqr.aft i*mrrur

,aq,oi fr*'rTfiTTC6q\3r rsqq q"qqq q I I

(8) :iffinil ffiffq.gia f\fr cqirrqir u: uQoio
qtqi-(qlfrtr+rrrit Erl + 6 t{E rgftqi ia qrrr I

rnuitq ar-n qurT r-j lqft ET;{F1is qdtsd

. vlq Rmfrqnfi f.rftrrf.it T ftavrgqrrit ar r r

Ans!\'e! any ONE ofthe lbllowing :

cTdre+* drTiqr€r uor lr+ri :,t f a :

H rft-d i t h+ q+ nr .F, ?+d-q .

Describe the importance ol 'qdlilor'

ffirori rce' +,la ."rr

qffi,ei +r q66 stlqp E:rs 'ffiir r

olvfr4[fdr{r
* t. O 

"rno,". 
on q$rl

!$rtr' Esfr ffiffi{ qrP.ff lr-6r

\ftzr' i trw t qErar fttuc r

Write short notes on any THREE : .-
+fuk rff -{ s{ ffrr fi6r :

R-ff fi-,r rt ft.qot ltRrrt :

(l) rr{.6fr

(2) rfdffrr.q

(3).rcur4siq

(4) r$H A-q:

(5) {fq s'rlqlF(srdsfrll

l:

t:l
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4. (A) F.xplain any ONE fin-+:r' of rhe following : *
rsrd-dtfr +lr(qrfi \161 6rft+.i gBw< IHqol qTI :-
ffiR+o i fr ffi \r{ Ftit+r' +r qftFrt mr{q dftrq :-

srai q{r+ a.ht.aa6p61 H+rr ao}r

rur vohfei siFdruflqdddEiergi r r

oR/frsr^xr{r

srkFfgqar dtfisrRTiErqraaHrn-(

erF{aBrerqrqr€ <fr igw5ryi r r

(B) Write short notes on any TWo r-
+rorcqr8 *r< dlqr ftra :-
E- 6l q] c{ ffi fttsc :-
(l) rdq fi4
(2) Sr..rmerur

(3) sF{g6'E

(4) qta{6rcq

5. write answers ofany l6 ofthc following:-

erffir +;i,rr.{la t6 r'r{r+ f,+ k6r :-
t{Fdiftrd q + Frd 16 sri i' Tf,{ frfuq :-
(l) (Ftd {rEd {i{tdgt. ctoT s rffi{fr ?

(l) qrs: (2) 6rFrrqr{: (3) 3rrq$s:

(2) Acrffi'd\ qar+rqs rqfudr +: ?

(1) *of: (2) srorrrrz (3) ErS

(3) lde 116r{ ir clsvr tat ?

{ l) 6Fn: 12) q{ (3) {rrrq:

(4) E+qftA +id s'qarm, ?

(l) s (2) 8 (3) 6

1s) $.r<ftao rrqrdr{: +: ?

(l) qr4*Er: (2) {rft-{r(: (3) sl.d:

(6) -llcq9!ttrtq cfi1116trt +, rM-r< I

111 a5ftf oc4li+ (2) lr.f,5Fr

l
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(7) 3rftsrrsTFqddF{ l.ai {rlirq rrq hI ?

(1) rl6rrllr d1 (2) {ITcurl

(8) Ffiir4stqq. <r.F.q {lfon- +t ?

(l) srtdrrr (2) E4sft

(9) 1-{'d2q,q. rT..tr€r {lqiF ?t ?

(l) ErE< !i (2) Eq-;3

(ro)TrE+P+l rrzr+q raFlm + ?

(t) 3rssaq (2) sit6d.

(rl) t(Tr{dl' +rE+tu-- rqEdr F, I

(l) ffi: (2) eI.6

(12)'{lrl]{<' lr.+-q -fq6r 6r ?

(l) qrqasm 121 I'illl{ff
( r 3) lnftg7c+ i ur' rre{.q €fu.afi F ?

(l) T.d: rZ) srrsdlEr,

(14) onrvej: +'r l:ts: clT+il: ;

(l) 3r'frm{{ t2) ir{{Ts
(15) Fr{qfl rril {qq rafia +: ?

(l) qr!rq..: r2) srr-dtilq

( 16) 6did{Fr lig, rm l}1 ?

(l) {r;{<dn ,2, i'rr5rada,

(l7l fi-flrr'fi."} '*id qrfl ;

(l) 8 (2) 10

(18' f$ {6l4r.q F+1+iudl r;r}
(1) {qrr]ilr4r. (2) i,srffid{

(I9'r{gss[1 q{1.fl?} sf,l rrrrrq -ritw 3Tk ?

(r) 3l (2) 25

(20, tqri(!-t{flr, q.nfla srq G=rd-riTqfil ?

(l) qtsnq i2) FrFii-qs

(3) grql

(3) qri{h.Fl

(l) f,.,ri

(l) IIdF

(3) 3ru?ritrr

tJ) qldr44il

(3) crurqz,z

(3),"ldliqtl{q

(3) rlrn

(3) 1-1rjled{

(3) l2

(3) {l,rER

(3) 2e
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(l) fl6.(q
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